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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to eaeh question

are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in

or pen ink on the answer sheet provi

1.1, Painkiller chemical produced by brain is:
(A) Insulin o+

2. Which drug is obtained from bacteria? \
U4
3. Anarrow opening present at the floor of Phar
(A) Larynx ) (B) Nostril At

4. The normal core temperature of human body is;

(A) 35°C (B) 37°C

(B) Interfergn (2 21

{A) Aspirin

5. Al of the following are hormones except:

(A) Glucagon /¥¥  (B) mnsulin s

6. Which hormone develops the male secondary sex characters? ‘

(A) Testosterone ws >+ (B) Estrogen Py

7. The hard outer layer of a bone is called:

\Q ag°c

front of each question with Marker

eSS i LEL 1.4

(C) Thymosin ¥ (D) Betaendorphin kil

fe Je S F ot 2Sinsy |
(B) Paracetamol J»rlxis (C) Terramycin uﬂjl.fﬁ‘ (D) Streptomycin u:“Jl.ﬁ;.y'
_.g_f:'lk"/f,l;rmr{&/'ﬁu’i’ ;

(D) Trachea g.f}
e ( é/:} )‘..'."JV,.;:;: JJJJ: IJJ {10%]
(D) 40°C

(C) Giottis A

(D) Pepsinogen (/¥

(©) \Keroxin o Lde
St A RS

(©) Progeét\eroneus 2%y D) Insulin g2
Y

\
{A) Osteocyte 2 Lol (B) Co'mpactbone u:{&%‘( (C) Cartilage %‘}Q;K (D) Spongy bone u:{cfz.r
TR

8. An examploe of corm is:

(A) Ginger 0 (B) Onion i
9. The amount of sperms in semen is:

(A) 10% (B) 50%
10. Cytosine always pairs with:

(A) Thymine ¢20¢  (B) Adenine oy
1 1_. An example of discontinuous variations is:

(A) Height & (B) Blood groups s/
12. Ali carnivore animals are: |
(B) Host

(A) Parasite sl s

% -85S AN
i _%J&ngrJ}( :
(C) Potato JT \\ (D) Garlic ‘
% AU IO
(C) 80% {D) 90%

\ = (jl:sf}:?}.-:’. v ;JV
(D) b(acn Sy
\ e Jederd

(D) intellig\ggnce =45

(C) Guanine 1

(C) Weight s
\ i
_u;‘hg_mﬁ lgdeKr‘ u

N
(C) Predator iy (D) Pathogen \ o/*s#%
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Sessions;201 5-2017 & 2016-2018

BiOlogy (Essay Type) Group-I- sf:f {200 h’-’/.l??
Marks: 48 Time: 1:45 Hours &£ 1:45:.=5, 48: 4
Section-1 2x15=30 Jilo
2-Write short answers of any five part from the following .  2x5=10 -#U:.LI:Z/‘?Z.JZI éic..(jf;.ufd_’jbn -2
I. What is difference between larynx and trachea? E‘{_J/'l[uf@:lu’fé i
li. How smoking effects on circulatory system? ?;L_m}ry‘{ﬁ*’d;-zf/y.ﬁ’f Ji
lii. Define Homeostasis and give an example. LS L Sy S Ko i
iv. What is difference between latex and muci!age? ‘e IV é‘;fj;fu@ dv
v. What is meant by lithotripsy? S slpfe 5y
vi. What is meant by ganglion? Sl Ve glkd vi
vii. Define Reflex Action and give an example. _L{:J&..an;,{/..yﬂfu;‘glu‘g% Vii
vili. What is difference between sensory nerves and motor nerves? ?;_J}gu:;,}}n,r;,)d): i
3- Write short answers of any five part from the following.  2x5=10 -c{.’dc.glﬁﬁ?‘ﬁwlzf ég;éf;:..u{d_‘-s@» -3
i. What is fibrous cartilage? ?.é‘:,:f/_ul&-é‘:‘{;fﬁﬁ i
ii. Differentiate between hinge and ball and socket joint with examples. -/ Ake UYE0 b 0170 H&U'_wfﬂ:? 3 i
iii. Define fragmentation and give an example. ey S S & 7 i
Iv. Define endospores and give an example. - Ll g Sy At v
v. What is meant by alternation of generation? vﬁ_,n/g,»_;é,-zl_;f&:'ﬂ: R
vi. Define transiation and transcripation. _u_’fug.@/lf u""«'“f;’»!ﬁ/f“?} i
vii. Why did Mendel select pea for his experiment? ?gu[vé'.‘lb’)‘éﬁé_f:‘%lé_dk Vii
viii. What is meant by incomplete dominance? Give an example also. _L,;:u‘fdb-._g??;ygfc_ﬂiﬂ Viii
4- Write short answers of any five part from the following.  2x5=10 _,gq-_.,{.,;gﬁ?g:,m é,Lc.Jf‘:.utJ_’jZ-,» -4
i. What is Biological nitrogen fixation? ¢ {_L(wi;fcﬁ} f»fL.LE,z_Jﬂ i
. What are carnivorous plants? Give two examples. o _giuft‘»;:?ugz.ng;J{_‘;::J;K i
lil. Describe the role of Biotechnology in the field of environment. _;ﬁ;g_,,;b/{&;’t?ﬂuf;ﬁﬁdﬂ Jii
iv. How does lactic acid fermentation occur by bacteria? e g}y{d_( gﬁ?‘?}ih_ﬁ.ﬁé;jég )-C v
v. What s the use of saccharomyces in fermentation process? S S A B e S Ay
vi. Differentiate between pharmaceutical and addictive drugs. - - ugJ/;u:.:aLuUsT;‘Jﬂidiﬂf;:‘bli i
vii. Write down the function of sedatives and give an exalmple also. _g:!&dpjjfészgj}“éf Vit
viil. Write down the effects of marijuana on body. ; & ;f;ljiétlﬁd/«)- Vil

Section -II (10
Note: Answer any two questions from the following. 9x2=18 -q)}f..-,ymi..-, Ulrua:.,(j[:.ufd_‘ s s

5. (a) Descrive csmoregulatory function of kidney. 05 - u};_;J"’ d/’-J;f»{-l&..u’i(J!) S5
(b} Write down the disorders of human eye. 04 _5,: ;ijﬁ}éf TJLJ'!-(..,)

6. (a) Explain Antagonism in Muscle action selecting biceps and 05 ufg);’&)/ L/._.'?‘UL‘:-JJ.‘:’ Ji/‘;;fui-” Jg-(Ji) .6
triceps as example. _:ﬁfwu;Jﬁf Caf
(b} Give an introduction of Pakistan National Aids control Program. 04 -é@?&&gq—:&dxfﬁgrﬁzuﬂg ()

7. (a) Write notes on global warming and deforestation. 05 __ﬁg hb;{JL‘fL;;’f'?J,*er]}J)si(Ji) T
(b) Which basic steps does a genetic Engineer adopt duringthe 04 .:.ujrd;g{.ifﬁ_@w;uivi A
manipuiation of genes? ?f_t'f
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72’( ‘iﬁ( * * $.5.C - (Part-II) -A-2018

RollNo. & Jppnwi PaperCode| 3 | 4 | 6 | 8
Sessions;2015-2017 & 2016-2018
Biology (objective Type) Group-1I- s/ (B <P
Time: 15 Minutes &#15 &3 12:4

Marks: 12

Aty e eon T U’»q,{gzé_,nnuc,B,Agymﬁgidfmag{;dvbﬁmu%/vfdmyw’.auwu":.b;
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questions on objectiye answer sheet provided. Four possible answers AB,.C & D to each question

NOTE: Write answers to the
iven in front of each question with Marker

are given.Which answer you consider correct, fill thé, corresponding circle AB.CorD g

or pen ink on the answer sheet provided.

1.1. The example of Rhizome is: \ _%J@Jpjdu A1

(A) Onion Jl (B) Ginger o . HC) Garlic 7 (D) Potato #7
\\

_Qrwﬂd"ib’cff{:fﬁ(n‘:/ 2

2 The actual location of gene on chromosome is:

(A) Chromatid %,/ (B) Locus S ‘,:(p) Centromere <1/~ (D) Karyotype i

3. Bred plants are called: _u,?Z.Ll:J:é_.ijr;ffé/.Jo‘z@%” 3
(A) Cultivars }xi.qfr (B) Breeds Jki« {(C) \:arnivore .u;d;b’ (D) Insectivore ;»JH

4. The symbiotic relationship in which both parteners get benefi\s: s /’u}»ufft}wﬁldf L,{? 4

(A) Parasitism ¢#Llz (B) Competition u”g{ (C) Migualism ¢4y (D) Commensalism r-;ku"f

5  Lactic acid fermentation is carried out by many: ' -;Mbg.ngfﬁié!.@ 5
(A) Fungi dlf‘ (B) Algae gfl (C) Bact ."ia ! /;{' (D) Protozoans :sti;,;
Which drug is obtained from plants? . e db‘fu"’ b;u»;b:oﬂr 6
(A) Aspirin ¢ ! (B) Penicillin ¢~ (C) Cephalosporin iz s (D) Opium sl
\ -;.Jr@JMLj:nndbi.xa;n;ﬁg i
(D) 21%

et/ ol Bd 8

o

7. The amount of oxygen in expired air is:

(A) 15% (B) 16% (C) 20%

8. Which piant produces latex?

(A) Keekar /Qf : (B) Conifer ):f (C) Rubberplant L¢6%. (D) Tomato /¥

8. Which hormone is also called emergency hormone? : ?e.t'%fﬁun}u’b %l)f;)n}/ .9
(A) Adrenaline St (B) Insulin 2! (C) Oxytocin ek \l‘p)_ Calcitonin J;Jy/

10. Processes that carry nerve impulse away from the cell body are called: _u:,"&'..Lt:’fugz..igh,tm‘:.diI,J‘/‘flv"l:)ﬁa.;.{)g 10
(A) Dendrites 5 (B) Axons (C) Myeiin sheath 2%/ (D)\"-Synapse s

11 Which of the following is the hardest connective tissue? ?c‘..t‘é;?jﬁﬁc;_./;ﬁdi@» k4
(A) Cartilage &6 (B) Bone ¥ (©) Ligament w»§ (D) Tehdon wi
12. The optimum temperature for seed germination is: P 3 .r&sz_éﬁb'jJ & 12

(A) 10--20°C (B) 20--25°C (C) 25--30°C (D) 30--35°C
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8.5.C - (Part-f1} -4-2018

ROH No. g./gu;ﬂ;gi
Sessions;2015-2017 & 2016-2018
BiOlogy (Essay Type) Group-II- u{); (& ®i1) I-:'-/g’..l:’
Marks: 48 - Time: 1:45 Hours &£ 1:45:23 48:/7
 Section-I 2x15=30 Jil o
2-Write short answers of any five part from the following .  2x5=10 &’UUU;"/"ZA]F é Jf‘:.g,ﬁ;}':b» -2
i. Define cellular respiration. /’JUJ/LJ;):" d
ii. Why does blood become thick due to smoking? Give reason. ,c‘;‘g_g?g.tlgr(ﬂ;b’;[u;’c...ﬁ’/ i
iii. Define homeostasis. ${wa Awew il
iv. Write two symptoms of kidney failure. d’UuLLk»JA_rJ’ Lo s v
v. What is meant by tubular secretion? “4.;1/%:;..%/@:'; R
vi. Write the names of the components of co-ordination process. - é’?*t&;lﬂﬁfﬁu’”u 4 i
vii. What is meant by myelin Sheath? . "c,}l/Lfc:,d"'u'LL Vii
viii. Where is the cerebrospinal fluid found? ?./T-_Hggl_;ulf CSF) “,J’J"&.-»:d[ Viid
3- Write short answers of any five part from the following.  2x5=10 wq‘!ﬂmgfﬁﬁgﬁflzl é&:.gfa.uf‘djbﬂ -3
i. Differetiate between bone and cartilage. GAALKSS i
'ii. Write the names of three causes of osteoporosis u‘fﬂtﬁuww&ﬂu” i
iii. What is the difference between sexual and Asexual reproduction? “LL)/LJ/J' g//» ,{_-.:Jrﬁ .:..Lr:lJrg i
iv. Define the technique of tissue culture. -J/J}’Jﬂtf/‘r/ v
v. What is meant by pollination? _ ?{_:/t[c_.fdg v
vi. What is meant by true breeding? el e kLast M
vii. Define gene and allele. LA SR il
viii. Differentiate between natural and artificial selection. - J)J:bdy”;ﬁ&;ﬁ Viii
4- Write short answers of any five part from the following.  2x5=10 ‘g“_,u,»,e!;,;y; ég;_&fLL;J,b,, 4
i. Write the names and define the components of an ecosystem. _J/J/;JIW%LL;I,?!L('}(! i
ii. What is smog formation? e bl i
iii. Write four advantages of using fermenters. _L,f)}/l’l;b‘lgidl.&lﬁ} K3 i
iv. What is plasmid? How does it work? ?%r)’rKdn;?uji._{iﬂg v
v. What is Beta endrophin? ' ‘.‘4‘:.:!/!.:,;-)%;};!@ N
vi. Define Narrow Spectrum antibiotics. w_{fuﬂh.-yj‘lfw@fg@y)ﬁ;‘ Vi
vii. Name few drugs obtained from animals. = rt&:.g;;igu:/d‘ b;.u»ﬁtg Mii
vili. What is meant by Social Stigma? ?g.ﬁf“u/c.l.tg?f'r vili
Section -II ”,.4)

Note: Answer any two questions from the following. Ix2=18 gwi.., Uln:a.d.&:..u!J $IO%3) <7
5. (a) Describe the role of skin and lungs in homeostasis. 05 érl:ﬁ:/m:/f.‘i»iﬁbu’u”/rﬁ_(..a’l) .5
{b) Describe the structure of human Ear in detail. 04 = ug;d-:‘{_,}v u(dul_(._._,)

6. (a) Explain the components of human skeleton. 05 -quu:Juﬁéi S JUIL(H) .6
(b) Explain the two methods of Natural vegetative propagation. 04  .(//eolosSU Al 2%, #7500 ()

7. (a) Write down the effects of Air Pollution. 05 el ST () 7
{b) Write down the objectives of Genetic Engineering. 04 Sl £ /25 ..@L.(u)
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